3 % T

(1) FERBIFETHE-F (T2-7)
Wk 1 7 4F Tk 1 8 4F Tk 1 9 4F Tk 2 04F Rk 2 14E

% [ [1,083,796] 8.6/1,084,450| 8.6/ 1,108,334| 8.8/ 1,142,407 9.1]|1,141,865] 9.1
gt B3 UL 18,511 8.9 18,638 9.0 18,910/ 9.2 19,478] 9.5 19,402] 9.5
B INFRER 1,641 10.2 1,650/ 10.3
AF/INE 1,067 9.2 1,075/ 9.3 1,122 9.7 1, 066 .2 1,077 9.4
B 803 8.7 815| 8.8 844| 9.1 809 i 821] 8.9
e 11 264 11.3 260 11.2 278| 12.1 257| 11.3 256| 11.4
AT

MREURS
=1L

ECRENT
b2 RAS
2 566/ 11.9 561 11.9 547| 11.8 575 12.5 573 12.7
BB bt 566/ 11.9 561 11.9 547 11.8 575| 12.5 573 12.7
Fpk 2 24 Frk 2 3 4R Fpk 2 448 YRk 2 B4R R 2 6 4

4 [ [1,197,012] 9.5|1,253,066] 9.9|1,256,359| 10.0|1,268,436] 10.1]1,273,004] 10.1
gk B2 UL 20,220/ 9.7 21,053 10.3 21,531 10.6 21,518 10.5 21,658 10.6
ENRE 1,769 11.2 1,842 11.7 1,849 11.8 1,847 11.9 1,814] 11.8
AP NG 1,151 10.1 1,167] 10.3 1,174 10.4 1,218 10.9 1,168 10.5
BT 871 9.5 888| 9.7 874| 9.6 927| 10.3 888| 9.9
ES 11 280 12.4 279 12.5 300/ 13.5 291| 13.4 280 13.0
=i 618 13.9 675 15.4 675 15.6 629] 14.7 646] 15.7
BB b 618 13.9 675 15.4 675 15.6 629] 14.7 646 15.7
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